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Iz K % B (B4) & 5% B =
1 EE A JNEE—/ 6 00:44.89
2 & KE JNEE—/ 6 00:46.11
3 g F{Z EdL 6 00:52.06
4 HH BEA 2k & I 6 00:52.30
5 L& BB £k & I 6 00:52.34
6 FHH #BFH £k & I 6 00:53.24
7 BNl HKER  EER/ 6 00:54.77
8 FiE HE NI 6 00:54.88
9 EK BN &k BN 6 00:56.38
10 BX EX ==B7.9] 6 01:05.87
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Iz K % B (B4) & 5% B =
1 #iE 2B B/ 6 00:48.22
2 HE & EEg /N 6 00:49.72
3 [EEF BREFH /BN 6 00:51.56
4 WH EF NI 6 00:55.43
5 BER DOEFE  mEHden 6 00:55.60
6 FIR HF0 B HIREER/ 6 00:56.86
7 Il (EA%E EAEARND 6 01:00.37
8 fER WmTE NI 6 01:02.12
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Iz K % B (B4) & 5% B =
1 JIlE F2Z2H  JNLEEZ/N 5 00:50.15
2 thE #RE S HE/N 5 00:50.39
3 EE HE EdL 5 00:50.61
4 (REE BEE &k BN 5 00:51.58
5 A F&E FER/I 5 00:51.62
6 K 1E FEE /D 5 00:54.20
7 HH & JMNEE—/ 5 00:55.36
8 HHE EX FH/D 5 00:57.20
9 HHF EBA JMNEE—/ 5 00:57.46
10 A2 & B HIREER/ 5 00:57.60
11 IBHE # NI 5 00:59.65
12 BREZE &M ®@Hdeh 5 01:00.18
13 EQ BE INR N WHE 5 01:06.81
KiE P5EE INRR N R 5 -
AR BEX INRR N R 5 -
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i K % B (25)) & 2% % =
1 B #4<F ®mE%EDh 5 00:52.01
2 F&k HT JMEFEZN 5 00:52.31
3 Nt gk INERIN 5 00:53.21
4 Hith BR H5A N 5 01:00.31
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i K % B (25)) & 2% % =
1 AH HE AL/ 4 00:48.71
2 ®HHF KB NEE—/ 4 00:57.12
3 FE A E R/ 4 00:57.26
4 BRE XZ JILEZ/N 4 00:57.30
5 k78 & JNEEZ N 4 00:58.40
6 LUg %3 JNEEZ 4 01:00.55
7 thHE BBF0 NI 4 01:01.00
8 A O INRR N WEE 4 01:02.81
9 &R RA NI 4 01:08.13
10 BE#¥ Xi2 B HIREE /I 4 01:08.63
11 %ZE EA S H/N 4 01:10.17
12 FIE EERE INERIN 4 01:15.14
INE EX JNEFEZN 4 ZIE
BRZE &3 @t 4 EIE
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i K % B (25)) & 2% % =
1 IBH @8 INRIN 4 01:00.38
2 FHE FiE REF0/N 4 01:06.68
3 BNl E#F INERIN 4 01:08.89
4 FH FE INER N WEE 4 01:15.98
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i K % B (25)) & 2% % =
1 R RIE JNEEZ 3 00:56.15
2 HERH EzN mtkdih 3 01:01.15
3 ME Hi FH/M 3 01:01.71
4 R RE ko BN 3 01:02.02
5 HH B NEE—/ 3 01:04.09
6 £k EF [Fags @ Al 3 01:05.37
7 HE &EA B L/ 3 01:06.89
8 HBF & INERIN 3 01:11.81
9 IEH REER EtkE/N 3 01:12.49
10 F& B N EFEZ/N 3 01:12.91
11 FHih & INGBIN 3 01:17.98
12 Il RIE NI 3 01:20.38
13 [’ Hi5 JNEEZ N 3 01:34.50
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1 ®BH SREX NN 3 01:12.01
2 T XE INREIR N e 3 01:33.60
3 AW #RE INREIR N e 3 01:34.18
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L K % B (25)) & 2% I
1 {FiE BA JMNEFEZ 2 01:00.86
2 Bz BA BEHIRAER/N 2 01:01.07
3 = D JNEEZ N 2 01:01.41
4 K B NMEEZ /N 2 01:03.58
5 BRE WA mEHdeh 2 01:13.08
6 UWEE BKER /ME/ND 2 01:18.21
7 &R KF0 JNEEZ 2 01:19.00
8 HLE BAKER {EATEN 2 01:19.38
9 ER KE INRIN 2 01:23.37
10 e &3 BN 2 01:27.50
11 /Mt BAE INERIN 2 01:35.47
12 2% % AN 2 02:05.06
13 EB5 i ==BY.9J\ 2 02:41.88
10. 25 ZF500m
i K % B (25)) & 2% % =
1 &FR EH B HIREE/I 2 01:01.61
2 {RER M BN 2 01:08.39
3 BK EFE &y B/ 2 01:14.72
4 FRIE B N EFEZ/N 2 01:16.07
5 INME HK BN 2 01:18.83
6 3FHE FK REF0/ 2 01:19.69
7 HIE B NI 2 01:28.64
8 /MBI FEE JMHILR/D W 2 01:47.13
9 BE Max duAn 2 02:12.81
INR Bg N EFEZ/N 2 - 3
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i K % B (25)) & 2% B =
1 XKiE &GS INRR N ITETIC 01:15.20
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3 BK HE &y B/ 1 01:20.41
4 =Bk KIF AT 1 01:20.48
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3 HH B NEE—/ 1 01:53.73
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L K % B (25)) & 2% I
1 EE O NMEE—/I 6 02:29.16
2 R KE NEE—/ 6 02:35.00
3 HH EA [Fags @ Al 6 02:43.17
4 rhig ={Z EtdL /I 6 02:51.27
5 B3l =AKER  FEER/ 6 02:52.80
6 LE# BB [Fags @ Al 6 02:57.67
7 #AK BN &y B 6 02:59.25
8 #FiE HE INGBIN 6 03:00.95
9 HH #H/ k5 & 1N 6 03:11.79
BEX EX H5A N 6 - 3
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i K % B (25)) & 2% % =
1 B #%E RSN 5 02:33.75
2 JIlE FzHN  NMEFEZN 5 02:33.82
3 thHE #RE S H/N 5 02:41.27
4 P REE ko BN 5 02:41.94
5 A F5 EER/N 5 02:44.03
6 HH & NEE—/ 5 02:49.12
7 HE EX FH/M 5 02:50.58
8 ARE = B HIREE/I 5 02:52.12
9 ®WE & E R/ 5 02:54.90
10 IBH INGBIN 5 03:06.17
11 BREZE &M ®EHdeh 5 03:06.96
12 A BE INER N WEIE 5 03:46.29
HHF EA N EFE—/ 5 -3
IRAR BEX INREIR N R 5 - 3
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1 AH S At/ 4 02:40.83
2 ®HHF KB NEE—/ 4 02:49.50
3 FE A E R/ 4 02:50.67
4 |uh 38 JNEEZ 4 02:51.88
5 k78 & JNEEZ N 4 02:56.41
6 BREZE XZE JLEEZN 4 03:01.28
7 thHE BBF0 NI 4 03:13.77
8 IRA O INER N WEE 4 03:18.21
9 &R RA NI 4 03:36.06
10 BE#¥ Xi2 B HIREE/N 4 03:39.68
11 %ZE EA S H/N 4 03:48.64
12 FIE EERE INERIN 4 04:07.96
INE EX JMEFEZN 4 = jE
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2 HE B E R/ 6 01:44.76
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4 EHR HH B HIREE/N 6 02:00.14
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7 R miE INGBIN 6 02:14.58
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1 B #4<F ®mE%Eh 5 01:46.58
2 F&k HT JNEFEZN 5 01:50.46
3 Nt gk INRIN 5 01:56.07
4 Hith BR H5A N 5 02:07.12
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B K % B (25)) & 2% % =
1 IEH BT INEBIN 4 02:10.77
2 FHE FiE REF0/N 4 02:28.92
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6 &£k &5 [Fags @ Al 3 02:23.58
7 HE & [Fags @ Al 3 02:26.24
8 {F&k B JNEFEZN 3 02:32.04
9 IEH REER EtkE/N 3 02:33.29
10 BHF %&& INERIN 3 02:41.47
1 FHh = INERIN 3 02:43.06
12 Il RIE NI 3 02:55.55
13 [’ His JNEEZ 3 03:07.99
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2 = fFED JNEEZ 2 00:44.11
3 BHRX # NMEEZ/N 2 00:45.26
4 Bz BA B HIRAER/ 2 00:46.05
5 BRE WA mEHdeh 2 00:51.39
6 UWEE BKER /hE/D 2 00:55.01
7 ER KBE INERIN 2 00:55.17
8 &R X#n JNEEZ 2 00:55.42
9 HLE BKED (EATEN 2 00:55.80
10 /Mt BAE INRIN 2 00:58.06
11 e &3 BN 2 00:58.44
12 2% % ==BY.9J\ 2 01:25.59
13 EB5 i AN 2 01:36.02
22. 25L& F300m
L K % B (25)) & 2% % =
1 &FR EH B HIREE/I 2 00:44.78
2 {RER M BN 2 00:46.44
3 B & NI 2 00:57.07
4 FEK BEFE &y B/ 2 00:57.25
5 ZFH IFK REF0/N 2 00:59.37
6 /ME HRK BN 2 01:00.00
7 FYE B N EFEZ/N 2 01:07.03
8 /MBI FEE JHHILR/D W 2 01:18.42
9 50 & AT 2 01:23.06
10 BE Maix duAh 2 01:30.15
INR B N EFEZ/N 2 - 3
23. 15£8F300m
i K % B (25)) & 2% B =
1 =@ K3F AT 1 00:56.40
2 KiE B3 INER N W 00:56.54
3 BK HE &y B/ 1 01:00.05
4 HBR 415 ®Eideh 1 01:07.77
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i K % B (25)) & 2% B =
1 HHF BB NEE—/I 1 01:01.73
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3 HH ITHh  mEtkE/D 1 01:20.02
4 HHF B NEE—/ 1 01:32.81
5 EE KE {EATEN 1 02:37.07
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